| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

syoen

syoen

Q= [~
£ . £
(=N} . 2
N . N
X ISES]
0 5 H N
55 3
o © — H @
— © 5 . o 5
= e —
[te] > .
2 .
8
o £ A ©
5 .
L :
2 o
o £ - —
= [ |
| e :
LD o .
i <
I<) 3 : 1
S| :
3 .
5 | R
2 o5
1 8 pN ) 2 1
5 o o
m — — —
L sxoen sreondnp
0 _ o
N o =
£ £
QS <
> o N
o X =]
lN 3
o g
— © =—C =
£ =
0
o o
el
! o
o
= |
o
— o
1 INd
S )
|
Lo o
Al £
5 5
ST M syoel) axyey
n o
5 °E
QS <
> o N
0 5 =]
1k w
oS M <]
— O N o =
s |8 =
[t} g
o
2
o 8 o
i g
2 S
=}
b s : : : !
10 e : : :
i = . . . o
| g b----- [T [EETTTrT H Id
S 8 : : : : i
) ] . . . .
I 2 i i i i S
[ PEPETEE TR (TTTE IS 1T L
AN 8 < B o = P
> 5 = (=] =} d
[=} = — — — o
LJ syoenann
n o
N = =
£ €
Jo L C
QL 2
> o N
Jo 3 X O
53 3
Joe IS
= 8 o =
- —
-{o
o o
17
o
Js 3 &
T2
o
-{= b o
| @ N
[=] 5 !
AR z
| 3|
P | 2
L bul
k) S 3 il 5 B 3
- Ll o Z - (=}



	Contents
	Page 1


